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Set0l Answers for No.9844

areal = {13} nd N B)=2  n(duU B)=6
Ansl =| 1= ar:Za:Z{:ﬁb?l}l} 2= n(4-B)=1 n(U-(4 U B))=7
aread = {2,3,5,6,7,8, 12} n(B-4)=3 Math@MUT
areal =15,6,7} n(d A B)=2 n(4uU B)=10
Ans2=| .1 = area‘;ri“f:iillol}; 12y 2= MA=B)=3 (U= (4 U B)=2
areat— {2.9) nB-A)=5 Math@MUT
[ areal = {10, 16} ] ]
area? = {4,13} n(intersect(A4, B, C)) =0 n(4d-B)=2
area3 ={ } n(union(4, B, C))=9 n(B-4)=1
nsi<| 1< aread = { } e n(d N B)=2 n(Cn(4uvB))=1
area’ = { } i nB N C)=1 n(Cu (4nB))=7
areab = {7} n(4 v C)=9 n(intersect(4, B, C) )= 16
area7 ={1,8,9,11} nBu C)=7 Math@MUT
L Larea8 =1{2,3,5,6,12,14, 15} i
(4 U B=1{2,3,4,7,8,9, 10,12, 13, 14, 16 } | i 1 =(B = {areal, aread}) i
' 4N B={2} 2=(B—A={areal3})
4V B={23, 4? 5,6,8,11,12,13,14,15} 3=(4 U B'= {areal, area3, area4 })
B nA4={7,91016} 4= (B’: {areal, area4, area7, area8 })
Ans4 = A4-B={3,4,8,12,13, 14} , Ans5 = S=(4 v (B n C)={areal, areal, area4, area’s, area6 })
B -A= {5,6,11,15} 6=((A4 v B) n (4 v C)={areal, area2, area4, area5, areab })
(4 v B)’: {5,6,11,15} 7=((A-B) U (A—-C)={areal, area2, aread })
A N B={561115} 8=(B - C = {aread, area’})
L (A—B)'={2, 5,6,7,9,10,11,15, 16} | L 9=(C n (B—A)rz{area4,area5,area7}) i
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Set0l Answers for No.9872

areal = {5,7,8,10}

ndnB)=1 nduB)=7
dnsl=| 1= ;’;2"32:{{112}} 22| n(A-B)=4 n(U—(4d U B))=5
aread = 12.3,6,9, 12} n(B-4)=2 Math@MUT
areal = {2,6,9, 10, 12, 13} w4 h B)=1 u(d v B)=10
dns2=| 1= arezgef{i{;}n} 22| n(4-B)=6 n(U—-(4 U B))=3
aread = 13,7, 14} n(B-4)=3 Math@MUT
[ [ areal={6,12} | 1
area? = {3,11} n(intersect(A4, B, C)) =0 n(4A-B)=3
area3 ={5,7,13,15} n(union(4, B, C)) = 12 n(B-A4)=5
R aread = {14} S n(4 n B)=2 n(C (40U B))=2
area’ = { } ’ n(B nNnC)=1 n(Cu (4N B))=6
area6= {10} n(d U C)=38 n(intersect(4, B, C) ) =17
area7 = {8,16} n(Bu C)=10 Math@MUT
L Larea8 = {1,2,4,9,17}] ]
I AU B=1{1,4,6,7,9,10,11,14} i [ 1 =(B = {areal, aread}) 1
' AN B={1,7,9} 2=(A' - B'={area3})
A v B={123,5, 6,’7, 8,9,11,12,13,14,15} 3=((4 N B)': {areal, area3, aread})
B nA={410} 4= (C’: {areal, area2, area3, area8 })
Ansd = A-B=16,11, 14} , Ans5 = S5=(C v (4 n B)={area2, area4, area$, areab, area?7 })
B'-A4=1{2,3,52812,13,15} b6=((4 v C) n (B v C)={area2, area4, area5, areab, area7 })
(4 U B)=1{2,3,58, 12, 13,15} 7=((A-B) A (4-C)={areal })
A N B={23,5,8,12,13, 15} 8=(4 N B'={area’, area8})
L (4-B)=1{1,2,3,4,5,7,8,9,10, 12, 13,15} | L 9=(C N (4-B) ={area2, area3, area8}) i
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L(A-B)=1{3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15}
):9:9:0.:9:9:9:9.9:9.:9:0.9:9.:0:0.9:0:0:0.9:9.:9:0.9:9.9:0.0:9.0:0.0:0:0:0.9:9:9:0.0:9:9:0.0:9.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0.9.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:9.0.0.0:9.9:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.9:0.0:0.0:0.0:0.0:0.0:0:9:9.0:0.9.9:0.:0.9.:9:0:0.9.9:0:0.9.0.0.0:¢

areal ={1,8,9,12}
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Set0l Answers for No.9873

- nd N B)=2  n(du B)=8
Ansl=| .1 = ;226132—_{{53’140}} ,2=| n(4-B)=4 n(U-(4 U B))=4
sreafe 12,6.7, 11} n(B-A)=2 Math@MUT
”mlzz{j’{;z%lf} n(4 N B)=2  n(4du B)=9
Ans2=| .1 = arezr;f {‘2 3615y |25 pA-B)=3 n(U-(4 L B)=5
aread = {4,9,10, 11, 14} n(B-d)=4 Math@MUT
[ [ areal=1{3,12,13} | T
area? = { } n(intersect(4, B, C)) =1 n(4d-B)=35
area3 = {9} n(union(4, B, C)) =11 n(B-A)=3
msi—| | areat={2.15} S n(4 N B)=1 n(C A (4 U B))=5
=T areas =16 e = n(B N C)=3 n(C U (4 N B))=7
areab = {4, 8} n(4 v C)=10 n(intersect(4, B, C) ) = 14
area7 ={7,11} n(Bu C)=8 Math@MUT
L Larea8 = {5, 10, 14, 16 } | i
4 v B={3,10,11,12,13} I 1=(A = {area3, aread})
AN B={10,11,12} 2= (A - B = {area3})
A4 U B=1{4,56,7,80910,11,12, 14,15} S=((A-B) ~ (B-A)=1 })
Bnd= 13,13} 4=(4 v C={areal, areal, area4, areal, areab, area7 })
A-B={} , AnsS = S=(4 v (B n C)={areal, areal, aread, area5, area6 })

B -A4=1{4,56,7,8,9,14,15}
(AU B)=1{4,5,6,7,8,9, 14,15}
A N B'={4,56,7,8,9, 14,15}

6=((4 U B) n (4 v C)={areal, area2, aread, area’, areab6 })
7=((A4-B) n (4-C)={areal })
8= (A’ U B= {areal, area3, area4, area6, area7, areal8 } )
L .9=((C—-B) — A= {area3, areab, area8 })
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Set0l Answers for No.9884
areal = {8, 13}

area? = {5,10, 14} n(4 N B)=3 n(4d U B)=6

Ansl =| .1 = 2= n(4-B)=2 n(U-(4 U B))=7
area3 = {12} _
aread=1{3,4,6,7,9, 11,15} n(B-4)=1 Math@MUT
“’e"]:ﬁo’{g’}m} n(d N B)=1 n(4duU B)=9
Ans2=| 1= areds = ,.2=| n(4-B)=3 n(U-(4 U B))=6

area3=1{1,4,6,7,8}

aread = {0,2,3,5,9,11} n(B-4)=3 Math@MUT
[ [areal={1,3,8,17}] ]
area2 = {0, 14} n(intersect(4, B, C)) =0 n(4A-B)=4
area3 =1{4,5,7,15} n(union(4, B, C)) = 14 n(B-4)=5
aread = { } n(4d N B)=2 n(C N (4 U B))=1
Ans3 =| .1 = ,.2=
area’ = { } n(BnC)=1 n(Cu (4N B))=6
area6 = {10} n(4 u C)=10 n(intersect(4, B, C) ) =18
area7 = {11,12,13} n(Bu C)=10 Math@MUT
L Larea8 = {2, 6,9, 16} ] ]
4 v B:{Oalaza 5> 7’ 8’9’ 12’13} [ .]:(A':{areaS,area4}) ]
, AnB={} 2=(B —A4={areal })
4 v B =A{0, 1,2,’3,4, 6,7,8,10,11,12} 3=((A-B) U (B-A)={areal, area3})
B N A4={50913} 4= (C’= {areal, areal, area3, area8 })
Ansd = 4-B={0,1,2,7,8,12} , Ans5 = S5=(C U (4 n B)={area2, area4, area$, areab, area7 })
B-A4= {3,4,6,10,11} O6=((4 v C) N (B y C)={area2, aread, area’, areab, area?7 })
(4 v B)’: {3,4,6,10, 11} 7=((C-4) v (C-B)={aread, areab, area7 })
A~ B'=(3,4,61011} 8=(C —A4'={areal, areal})
| (4-B)=1{3,4,5,6,9,10,11,13} | L 9=(4 ~ (B-C) = {areab, area7, area8 } ) ]
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Set0l Answers for No.9885

[Page = 0005]

Ans4 =

areal = {3,9,13}
area? ={5,7,12}

Ansl=) 1= area3={1,2}
area4 = {4,6,8,10, 11}
areal = {2,8, 11}
area2 ={5,6,9}
Ans2=\.I= area3 = {4,7}
area4 ={1,3,10}
i areal = {14, 16} ]
areal = {8}
area3 = {0, 12}
aread = {5}
Ans3 =| .1 = areas = {61 , .2 =
area6={1,2}
area7 = {3,4, 13}
L Larea8=1{7,9,10, 11, 15} |

A U B={1,4,5,6,8,9,10,11,13}
A~ B=1{4,6,10,13}

AU B=1{0,2,3,4,5678,910,12,13}
BnA={111}
A-B=1{5218,9}

B -A4=1{0,2,3,7,12}
(4 U B)=1{0,2,3,7,12}
A4 N B={0,2,3,7,12}

L(4-B)=1{0,1,2,3,4,6,7,10,11, 12, 13} |

,.2 =

i

n(4 ~n B)=3  n(4 U B)=8
,.2=| n(4-B)=3 n(U-(4 U B))=5
n(B-A)=2 Math@MUT
n(4 A B)=3  n(4 U B)=8
n(A-B)=3 n(U-(4 U B))=3

n(B-A4)=2

n(intersect(4, B, C)) =1
n(union(4, B, C)) =12

Math@MUT

n(4d-B)=3
n(B-A)=4

n(4 N B)=2 n(C N (4 v B))=4
n(B N C)=3 n(C U (4 N B))=8
n(4 v C)=10 n(intersect( A4, B, C)/) =16
n(B v C)=10 Math@MUT

Ans5 =

d=(A4 n B={areal})
2=(B—A={aread})
3=(4" N B'={aread})

4=(A N B={area2,areal})

5=(C n (A v B)={aread, areas, area6})
6=((4 n C) v (B n C)={aread, area’, areat})
7=((B-4) U (B-C)={area2, area3, areat})
.8=(C’—A’={areal, areal })
.9:((C—B)'—A:{area3, areab, area8 })

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.9895

areal = {2}
area = {4,7}
area3 = {8,9,10, 11} [~
area4 ={1,3,5,6}
areal = {7,8,10,12, 14,15}
areal = { }

n(d N B)=2 n(4d v B)=7
2= n(4-B)=1 n(U-(4 v B))=4
n(B-4)=4 Math@MUT

Ansl =| .1 =

n(4 n B)=0  n(4 U B)=9

Ans2=| .1= 2= n(4-B)=6 n(U-(4 U B))=3
“:;ZZ ) :{?,5’121 ;3}} n(B-A4)=3 Math@MUT
[ areal = {4} ] i
area = { } n(intersect(4, B, C)) =2 n(4-B)=1
area3 = {6, 10, 11, 12} n(union(4, B, C)) =9 n(B-A)=5
P aread = { } S n(4 n B)=2 n(C (40U B))=3
' area5={1,9} . n(B N C)=3 n(Cu (4 n B))=4
area6 = {5} nd v C)=5 n(intersect(4, B, C)) =12
area7 = {8} n(Bu C)=8 Math@MUT
L Larea8 = {0,2,3,7,13 }] ]

4w B=1{3,47810,13; I .1=(B/:{area],area4}) ]
/ AN B={3,7,8} 2=(B-A4={area3})
AU B={3,4,56,7,8,9,10,11,12,13} 3=((4 U B) = {aread})
B N A’:{ 4 4=(A v B={areal, areal, area3, area4, area5, area6 } )
Ans4 = ,A_B: {4,10,13} , Ans5 = 5=(4 n (B v C)={area2, aread, area5})
B -4=1{5,6,9,11,12} 6=((A4 N B) U (4 n C)={areal, area4, areal })
(4 U B)=1{5,6,9,11,12} 7=((B-4) n (B-C)={areal})
A N B= {5,6,9,11,12} .8:(A, N C= {area3, area8 })
L (A—B)': {3,5,6,7,8,9,11,12} | L .9:(3’ ) (C—A)/: {areal, area4, area8}) ]
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Set0l Answers for No.9898

areal ={7,8,9,13}

area2 = {6, 11} n(4 N B)=2 n(d v B)=8

Ansl=| .1 = ,2=| n(A-B)=4 n(U—-(4 U B))=4
area3 = {5,12} _
aread = (4,10, 14, 15} n(B-4)=2 Math@MUT
“realzz{f’{g’ ?;1}3} n(d N B)=2  n(4 U B)=9
Ans2=| 1= areas =1, 2= n(4-B)=4 n(U-(4 U B))=6

area3 ={3,10, 15}

aread = {2,4,9, 11,12, 16} n(B-4)=3 Math@MUT
[ [areal = {6,9, 14 }_ i
area? = {7} n(intersect(4, B, C)) =0 n(4-B)=5
area3 = {12,13} n(union(4, B, C)) =11 n(B-4)=3
ansi<| 12 aread = {8, 15} e n(4d N B)=1 n(C N (4 U B))=3
area’ = { } ’ n(BnC)=1 n(Cu (4N B))=6
areab = {11} n(4 v C)=9 n(intersect(4, B, C)) = 14
area7 = {10, 16 } n(Bu C)=8 Math@MUT
L Larea8=1{3,4,5} | i
4w B={3,506091114,15} I 1 =(B={areal, aread}) 1
4N B={14,15} 2=(A4'-B={aread})
A4 v B=1{4,517, 8’ 10,11, 12,13, 14,15} 3=((4 N B) ={areal, area3, aread})
BN A={3,69} 4=(A4 v C={areal, areal, aread, areal, area6, area7 })
Ans4 = A4-B={511} , Ans5 = S=(B v (4 n C)={areal, area3, aread, area’, area6 })
B-A= {4,7,8,10,12,13} 6=((4 v B) n (B v C)={areal, area3, area4, area’, area6 })
(4 U B)=1{4,7,8,10,12,13} 7=((B-4) n (B-C)={area3})
A4 N B= {4,7,8,10,12,13} 8=(4 U B'= {areal, area3, area4, area6, area7, area8 })
L(A—B) =1{3,4,6,7,8,9,10, 12,13, 14,15} | L 9=((B-A4) —C={areal, area2, area8}) i
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Set0l Answers for No.9899

areal = {3,7,8,10,15} - )
area? = {13} n(4 N B)=1 n(4d U B)=8

Ansl =| .1 = ’.2: n(A_B):S n(U—(A UB)):S
area3 ={5,9} -
aread = {4,6, 11,12, 14} nB-4)=2 Math@MUT
areal = {2,4,8,10}

area2? = {3,6,9} n(4 N B)=3 n(4d U B)=10

Ans2=|.1= ,.2=| n(4-B)=4 n(U-(4 U B))=2
“’;;’:a ) i5{7121 11; } n(B-A4)=3 Math@MUT
[ areal = {9,10} | )
area? = {3} n(intersect(4, B, C))=0 n(4-B)=3
area3 = {4,6,13, 14} n(union(4, B, C)) =10 n(B-—A4)=6
nsi<| 12 aread = {7} 5 n(d N B)=1 n(C n (4 v B))=3
' area5={} - n(B N C)=2 n(Cu (4 n B))=4
area6 = {8, 12} n4d v C)=6 n(intersect(4, B, C)'): 13
area7 = { } n(B U C)=8 Math@MUT
L L area8= {2,511} | i
4w B=1{4,506,7,8911,12,13} [ A =(A4 v B={areal, area?, area3})
/ 4N B={457; 2=(4'-B = {area3})
4w B={4,5,6,72810,11,12,14} 3=((A-B) U (B-A)={areal, area3})
B(\A’:{9, 13} 4=(B n C={area’, area6})
Ansd = A-B={6,8,11,12} . Ans5 = S=(4 v (B n C)={areal, area2, aread, areas, area6 })
B -A= {10, 14} 6=((4 v B) n (4 v C)={areal, area2, area4, areas, area6 })
(4 U B) = {10, 14} 7=((C-4) u (C-B)={area4, areab, area7 } )
A n B'={10,14} 8=(A - B = {area3, area6})
L (4-B)=1{4,57,9,10,13,14} | L .9=((B—C)’—A’={area],area4,area5}) ]
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Set0l Answers for No.9920

areal ={2,7,8,10,11, 12}

area? ={ } n4d n B)=0 n(4 v B)=9

Ansl=| .1 = 2= n(4-B)=6 n(U-(4 U B))=3
area3=1{4,5,6} _
aread = (3.9, 13} n(B-4)=3 Math@MUT
“’ealzi{{4f45}} ndnBy=1 n(duU B)=6
Ans2=| 1= aredzs = ,2=| n(4-B)=2 n(U-(4 U B))=8

area3=1{7,12,16}

aread = {3,6,8,9, 10, 11, 13, 15} n(B-4)=3 Math@MUT
[ [ areal=1{3,7,13,15} | ]
area? = { } n(intersect(4, B, C)) =1 n(A-B)=6
area3 = {10, 12} n(union(4, B, C)) =11 n(B-A4)=2
dns3—| 1= aread = {6,9} . n(4d N B)=1 n(C N (4 U B))=3
' aread = {8} . nB N C)=1 n(C U (4 n B))=5
areab = { } n(4d v C)=9 n(intersect(4, B, C) ) = 14
area7 = {5,17} n(Bu C)=7 Math@MUT
L Larea8 = {4, 11, 14, 16 } | J
(4 U B={3,5,6,8,9,10, 11,12, 13, 14} | i 1=(4 U B={areal, area2, area3}) ]
4 N B={11,12,13} 2=(B'—A'={areal })
4 B=14,50671011,12,13} .3=(A' U B'= {areal, area3, area4 })
BmA':{3,8,9, 14} 4=(B n C={areal, areab})
Ans4 = A-B=1{5,6,10} , Ans5 = S=(B v (4 n C)={area2, area3, aread, areal, area6 })
B -A= {4,7} 6=((4 v B) n (B v C)={areal, area3, aread, area’, area6 })
(4 U B)={4,7} 7=((A4-B) N (4-C)={areal })
A N B={47} 8=(C —A'={areal, area2})
L (A—B)':{3,4, 7,8,9,11,12,13,14} | L .9:(A’ N (B—C)':{area6, area7, area8}) i
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Set0l Answers for No.10000

areal = {1,4,8} nd n B)=1 n(4 v B)=9

Ansl =| 1= area(;ri“{zzs{,léf}i% 2= n(4-B)=3 n(U-(4 U B))=2
aread = (0,3} n(B-4)=5 Math@MUT
areal = {9, 11, 14} n(A A~ B)=0 nA U B)=7
Ans2=| 1= area;’;i“;jé 1}2, 13y 27| MA=BI=3 (U= (4 U B))=T
aread = {3,4,5,6,7,8, 15} n(B-4)=4 Math@MUT
[ [ areal = {18} i i
area? = { } n(intersect(A4, B, C)) =2 n(d-B)=2
area3 = {4, 16,19} n(union(4, B, C))=9 n(B-4)=4
ansi=| 12 aread = {7} e n(4 N B)=2 n(C N (4 v B))=4
aread = {13,15} i n(B N C)=3 n(Cu (4 nB))=5
area6 = {2} n(d4d U C)=6 n(intersect(4, B, C)) =17
area7 = {8} n(B U C)=8 Math@MUT
L Larea8 ={1,3,5,6,9,10, 11,12, 14,17 } | |
(4 U B=1{2,3,4,6,8,9,11,12,13, 14, 15} | r 1=(4 A B={area2}) 7
’ AN B={8,15} 2=(B—-A={area3})
A v B={1,45,7,8,9,10,11,12,15} 3=(4 N B'={aread})
B A=1{23613, 14} 4=(A4 U B={areal, area2, area3, aread, area5, area6} )
Ansd = A-B=1{4,9,11,12} . Ans5 = S5=(C n (4 v B)={aread, area5, area6})
B,—A:{I,S, 7,10} 6=(4 N C) U (B N C)={aread, area5, areab })
(4 U B)': {1,5,7,10} 7=((B-4) U (B-C)={area2, area3, areab })
A N B = {1,5,7,10} 8=(A U B ={areal, area3, aread, area6, area?7, area8 })
[(4-B)={1,2,3,5,6,7,8, 10,13, 14,15} | L 9=(C N (B-A) = {areal, area2, area8 }) i
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Set0l Answers for No.10017

areal = {5,9, 11}

n(d N B)=1 n(4 v B)=9
Ansl =| 1= area2 = {10} 2= n(4-B)=3 n(U-(4 U B))=4
area3=1{3,7,8,12,15} n(B-A)=5 Math@MUT
aread4 = {4,6,13, 14}
areal = {0,6,7,10} n(A A B)=0 nA U B)=7
Ans2=| 1= are‘;r;f;’{“;} ,2=| n(4-B)=4 n(U-(4 U B))=4
aread = {1,3,5.8} n(B-A4)=3 Math@MUT
[ areal = {7,11} i l
areal = {2} n(intersect(4, B, C)) =1 n(4-B)=5
area3 = {4} n(union(4, B, C)) =10 n(B-4)=2
ansi<| 12 area4 = {5,9, 16} e n(4d N B)=2 n(C N (4 U B))=5
areas = {12} ’ n(B N C)=2 n(Cu (4 nB))=7
area6= {17} n(d U C)=9 n(intersect(4, B, C)) =15
area7 = {6} n(Bu C)=8 Math@MUT
L Larea8 = {3, 8,10, 13, 14, 15} | ]
4 U B=(3,4,5,6,7,9,10, 11,12, 13, 14} | [ 1=(4 N B={area2}) ]
A4nB={} 2=(B -4 ={areal })
AV B={2,68,11,13,14} 3=(4 N B ={aread})
Bnd= {3.4,5,7,9,10, 12} 4= (C’= {areal, areal, area3, area8 })
Ans4 = A-B={6,11,13, 14} , Ans5 = S5=(C n (4 v B)={area4, area$, areat })
B —-4=1{2,8} 6=((4 N C) U (B n C)={aread, areas, area6})
(4 U B)=1{2,8} 7=((B-4) n (B-C)={area3})
A N B= {2,8} .8=(B' U C= {areal, area2, area3, area4, area7, area8})
l  (4-B)=1{2,3,4,5,7,8,9,10,12} 9=((C—A) - B = {area2, area3, area5}) ]
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Set0l Answers for No.10057

areal = {4,12, 14}

area2=1{7,11} n(4 N B)=2 n(4 v B)=7

Ansl =| .1 = ,.2=| n(4-B)=3 n(U-(4 U B))=5
area3 = {10, 13} _
aread = {5,6,8,9, 15} n(B-4)=2 Math@MUT
“Ve‘”;fl{sl’olf} n(d N B)=1 n(4duU B)=6
Ans2=| .1 = areas= 2= n(4-B)=2 n(U-(4 U B))=9

area3 = {11,12,17}

aread = {4,5,6,7,8,9, 13, 14, 18} n(B-4)=3 Math@MUT
[ areal = {9} ] ]
area = {17} n(intersect(4, B, C)) =0 n(4d-B)=3
area3=1{3,4,6,7,18} n(union(4, B, C)) = 14 n(B-4)=5
dnsi<| 12 aread = {8,10} . n(4d N B)=1 n(Cn(4uvB))=2
areas = { } i n(B N C)=0 n(Cu (4 nB))=8
area6={ } nd U C)=9 n(intersect(4, B, C) ) =17
area7 ={2,5,11,14,16} n(Bu C)=13 Math@MUT
L area8={12,13,15} i
AU B={2,3,56,7,8,10,11,12} [ 1 =(A'={area3, aread ) ]
40 B={10,11} 2=(B—A={aread})
4B - 12,4,5,9,10, 11} 3=((4 N B) ={areal, area3, area4 })
BN A4={3672812} 4=(4 N C={area4, areas})
Ans4 = A4-B={2,5} , Ans5 = S=(B v (4 n C)={areal, area3, area4, areas, area6 })
B —A4=1{4,9} 6=((4 U B) n (B v C)={area2, area3, aread, area5, areab })
(4 U B)=1{4,9} 7=((C—-4) n (C-B)={area7})
A N B=1{49} 8=(A4 n B ={area’, area8})
[(A—B) =1{3,4,6,7,8,9,10, 11,12} L 9=(C N (4 - B) = {area5, area6, area7}) ]
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Set0l Answers for No.10061

areal = {4,6,12}

- n(4 N B)=3  n(4duU B)=8
Ansl=| 1= “;f:j;_{{gl’;’lzo}} ,.2=| n(4-B)=3 n(U-(4 U B))=3
areat= {5,711} n(B-A)=2 Math@MUT
“Vealzzj{l’lél" ?’39}} n(4d n B)=2  n(4 U B)=9
Ans2=| .1 = af:g—_{s 015y 2= na-BI=4 aU-(4 v B))=6
aread = {2,5,6,7, 12, 14} ] n(B-4)=3 Math@MUT
T areal = {5} ] ) ]
area? = {1,8} n(intersect(4, B, C)) =1 n(A-B)=2
area3={4,6} n(union(4, B, C))=9 n(B-A4)=3
s | 1- aread = {3} 5 n(4 N B)=3 n(C A (4 U B))=3
= areas= {11} L= n(B N C)=2 n(C U (4 N B))=6
area6= {14} nd u C)=7 n(intersect(4, B, C)) =15
area7 = {10} L nBu C)=8 Math@MUT
L Larea8 =1{0,2,7,9,12,13, 15} ]

AU B={1,56,7,8,10,13,14}
AN B={57}

AU B ={2,34,506,728,911,12 13,14}
B A={110}

.1=(A v B={areal, area2, area3})
2=(A - B={aread})
3=(4 N B ={aread})
A4=(A n B={area2, area5})

Ans4 = A-B=1{6,8,13,14} , Ans5 = S=(A4 n (B v C)={area2, aread, area5 })
B —A= {2,3,4,9,11, 12} 6=((A4 N B) U (4 n C)={areal, aread, area’s })
4 v B),:{Z, 3,4,9,11,12} 7=((C—-4) v (C-B)={aread, areab, area7 })

A N B={273,4,911,12} 8=(B U C={areal, area, area3, aread, area’, area8})

L (A-B)=1{1,2,3,4,5,7,9,10,11, 12} | L 9=((C—-A4) —B={areal, area4, area8 }) J
):9:9:0.:9:9:9.0.9:9:9.0.9.9:9.0:0.9:9.0:0:0.9.0:0.9:0.0.0.9.9.0.0.9.9.0.0:0.0.0,0.9.0.0,0.:0.0.0:0.0.0:0:0:0.0:0.0.0.0:0:0.0.0.0:0.0.0.0:9.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0:0.0.0:0.0.0.0.9.0.0:0.0.0.0:0.9.0.0.0.:0.0.0.0:0.0.0.0:0.0.0:0.0.0.0:0.0.0:0.:0.0.9.0.:0.0.0.0.0.0.0.0:¢
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Set0l Answers for No.10071
areal = {4,12}

area?= (8,9, 13) n(4 N B)=3  n(4 U B)=8

Ansl =| 1= ,.2=| n(4-B)=2 n(U-(4 U B))=4
area3 ={5,7, 14} _
aread = 16,10, 11,15} n(B-4)=3 Math@MUT
areal = {;);2;2’ ;(; 12} n(4 N B)=2  n(4 U B)=8
Ans2=| .1 = “Zerzaj‘_{;} ,.2=| n(4-B)=5 n(U-(4 U B))=5
areate {1,359, 11} n(B-A)=1 Math@MUT
i areal = { } i 1
area? = { 11,13} n(intersect(A4, B, C)) =1 n(4-B)=0
area3 ={7,8, 14,17} n(union(4, B, C)) =10 n(B-A)=4
s3] 1 aread = { } S n(4 N B)=3 n(C A (40U B))=1
A areas =15} daln nB ~ C)=1 n(C U (4N B))=6
areab = { } n(4d v C)=6 n(intersect(4, B, C)) = 14
area7 = {9, 15,16} n(B u C)=10 Math@MUT
Larea8 = {3, 4, 6,10, 12} ]

[4 U B=1{4,5,7,8,9,11,12,13, 14,15} | I 1 =(4 U B={areal, area2, area3}) |
’AmB={13,14,15} .2:(A—B,:{area2})
AU B={56791012,13,14,15} 3=(A4-B)n (B-4)={})
Bnd= {4,811} .4:(C’: {areal, area2, area3, aread })
Ans4 = A—’BZ {5,7,9,12} , Ans5 = S=(B v (4 n C)={area2, area3, aread, areal, area6 })
B -4={6,10} 6=((4 v B) n (B v C)={areal, area3, aread, area’, area6 })
(4 U B)=1{6,10} 7=((B—-4) n (B-C)={area3})
A N B'=1{6,10} 8=(A4 ~ B'={area7,area8})
L (A—B)':{4, 6,8,10,11,13,14,15} | L .9:((C—B)'—A:{area3, areab, area8 }) i
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Set0l Answers for No.10088

areal = {3,7,15}

area? ={ } n(4 N B)=0 n(4d v B)=8

Ansl =| .1 = area3 = 16,9, 10,12, 13} ,.2=| n(4d-B)=3 n(U-(4 U B))=5
aread = {4,5,8, 11, 14} n(B-4)=3 Math@MUT
areal = {4,10, 11} n(A ~ B)=3 A U B)=7
Ans2=| 1= “reaz:;f’{gg}lz} ,2=| n(4-B)=3 n(U-(4 U B))=4
areajria{ 5.7.9.131) n(B-A4)=1 Math@MUT
[ areal = {3,11,16} | T
area2 = {2} [n(intersect(4, B, C)) =0 n(4d-B)=4
area3 = {6,9, 15} n(union(4, B, C))=13 n(B-—A4)=3
ns3=| 1 aread = {14} 2o n(4d N B)=1 n(C N (4uvB))=1
' area5=1{ } . n(B N C)=0 n(Cu (4 nB))=17
areab = { } n(4 v C)=10 n(intersect(4, B, C)) =16
area7 =1{4,5,8,12,13} L n(B v C)=10 Math@MUT
L L area8=1{1,7,10} i
AU B={2,4,6,8,9,10,11,13} [ I=(A4 N B={area2}) 1
. AN B={13} 2=(4 - B={aread})
Av B={2,3,457910,11,12,13} 3=((A-B) n (B-A)={1})
Bnd= {6, 8} .4:(A’: {area3, areab, area7, areas })
Ans4 = A-B=1{2,4,9,10,11} , Ans5 = S=(B v (4 n C)={area2, area3, aread, areal, area6 })
B —d= {3,5,7,12} 6=((4 v B) n (B v C)={areal, area3, area4, area’s, area6 })
(4 v B)': {3,5,7,12} 7=((A-B) U (A-C)={areal, areal, area4})
A~ B'=(3,57,12} 8=(A4" U C'={areal, area2, area3, areab, area7, area8})
L (A—B)':{3, 5,6,7,8,12,13} | L .9:((B—A)/—C:{area1, area2, area8 }) |

X [Page = 0015] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXKXKXXKXKXKXKXKXKKXKXKKKXKKXKXKKKXKKXKXKKKKKKKKXK KKK KXKKKXKXKKKKKKK KKK KK KK KKK KK KK KKK KKK KKK KKK KK KKK KK KKKKK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKX XXX XXX XXX LXK KKK XXX KK LXK XXX LXK LXK XKLL XKLL K LXK XXX KKK XK XXX K XXX XXX KK XXX KKXKKKKKMAE /1-6600101-00016XX

Set0l Answers for No.10385

areal = {3,4,7,10}
area? ={ }

Ansl=) 1= area3 ={2,8,9}
area4 =1{0,1,5,6}
areal = {1, 11}
ns2—| 17— areal = {4,6,8,12}

area3 =1{2,3,14}

n(4d N B)=0 n(4 v B)=17
,.2=| n(4-B)=4 n(U-(4 v B))=4
n(B-4)=3 Math@MUT
n(4 N B)=4  n(4 U B)=9
,.2=| n(4-B)=2 n(U-(4 U B))=6
n(B-4)=3 Math@MUT

area4=1{0,5,7,9,10, 13}
[ [ areal = {12} i i
area? = {5,9,17} n(intersect(4, B, C))=0 n(4-B)=3
area3 = {6} n(union(4, B, C)) =12 n(B-4)=1
nsi=| 1= area4 = {11, 13} . n(4d N B)=3 n(C N (4 B))=2
' area5=1{ } . n(B N C)=0 n(Cu (4 N B))=10
areab = { } n(4d v C)=11 n(intersect(4, B, C)) = 18
area7 ={1,3,4,8,18} n(B v C)=11 Math@MUT
L Larea8 = {2,7, 10, 14, 15, 16 } | i
4w B={2,506,7,8,11,12,13,14} [ 1 =(A4 v B={areal, area2, area3})
, 4 N B={2,38} 2=(B'-4={aread})
4 v B=1{1234, é’ 7,8,9,10,11,12,13} .3=(A' U B= {areal, area3, area4 })
B nA4=1{614} 4=(4 v C={areal, area2, area4, area5, areab, area7 })
Ans4 = A-B=15,7,11,12,13} , Ans5 = S=(B v (4 n C)={area2, area3, aread, areal, area6 })
B —A= {1,3,4,9,10} 6=((4 v B) n (B v C)={area2, area3, aread, area’s, area6 })
(4 U B)=1{1,3,4,9, 10} 7=((B-4) n (B-C)={areal})
.8:(A, N C= {area3, area8 })

A~ B'={1,3,4910}

| (4-B)={1,2,3,4,6,8,9,10,14} | L
):9:9:0.:9:9:9:9.9:9.:9:0.9:9.:0:0.9:0:0:0.9:9.:9:0.9:9.9:0.0:9.0:0.0:0:0:0.9:9:9:0.0:9:9:0.0:9.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0.9.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:9.0.0.0:9.9:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.9:0.0:0.0:0.0:0.0:0.0:0:9:9.0:0.9.9:0.:0.9.:9:0:0.9.9:0:0.9.0.0.0:¢

.9:(3’ N (A—C)/: {area4, area7, area8}) |
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Set0l Answers for No.10387

areal = {0, 12}

area2= {2,911} n(4d N B)=3  n(4 U B)=8

Ansl =| .1 = ,.2=| n(4-B)=2 n(U-(4 v B))=5
areal = {2,4,7,8,11,12} N4~ B)=1 n(4 U B)=12
Ans2=| 1= area;f;‘;yzi{;}g! oy 27| MA=B)=6 n(U-(4 U B)=0
areat—{ ) nB-A)=5 Math@MUT
[ areal = {15} ]
area2 = {9, 12} n(intersect(4, B, C)) =0 n(4d-B)=3
area3 = {2, 11, 14,16} n(union(4, B, C)) =10 n(B-4)=4
ansi<| 12 area4 = {10, 13} e n(d N B)=2 n(C N (4 U B))=2
area’ = { } ’ n(B N C)=0 n(Cu (4 nB))=5
area6={ } nd U C)=6 n(intersect(4, B, C) ) =17
area7 = {4} n(Bu C)=9 Math@MUT
L Larea8={1,3,5,6,7,8,17}] ]
AU B={2,4,5,7,8,9} ] [ .1 =(A v B={areal, area2, area3}) ]
AN B={25] 2=(B —A={aread})
4V B={23,45,6,8,9,10,11,12} 3=((4 U B) = {aread})
BnA= 173 4= (C’= {areal, area2, area3, area8 })
Ans4 = A4-B={4,89} , Ans5 = S=(B N (4 v C)={areal, areas, areab})
B'—A4=1{3,6,10,11,12} 6=((4 N B) U (B n C)={area2, area5, area6})
(4 v B)’: {3,6,10, 11,12} 7=((B-4) U (B-C)={area2, area3, areab })
A4~ B'={3,6,10,11,12} 8=(C - B = {area2, area3})
| (4-B)=1{2,3,5,6,7,10,11,12} | L 9=((B-C)—A4'={areal,areat, area5}) |
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Set0l Answers for No.10914

areal = 14,7} nd N B)=2  n(d4duU B)=8
Ansl =| 1= ar:;?f{zo,{;:g,}@ 2= n(4-B)=2 n(U-(4 U B))=4
aread = {2,9, 10, 11} n(B-4)=4 Math@MUT
areal =12, 4,5, 12} n(4 N B)=3 n(4 U B)=10
Ans2=| .1 = Z:ZZ?; }g g’ i?i ,2=| n(4-B)=4 n(U-(4 U B))=3
aread = (1,78} n(B-4)=3 Math@MUT
[ [ areal=1{2,8,10,12} | i
area? = { } n(intersect(4, B, C)) =1 n(4-B)=6
area3={1,4,9} n(union(4, B, C)) =10 n(B-—A4)=3
Ans3—| 1= aread={7,11} . n(4d N B)=1 n(C N (4 v B))=3
aread = {3} i n(B N C)=1 n(C v (4 nB))=3
area6={ } nd U C)=7 n(intersect(4, B, C) ) = 14
area7 = { } n(Bu C)=6 Math@MUT
L Larea8 = {5, 6,13, 14, 15} | i
[ 4 U B={1,2,4,56,7,811,13,14,15} | i 1 =(B = {areal, aread}) il
A0 B={7,11} 2=(B-A'={area2})
AU B :{1,3’,5,7,8, 9,10, 11, 12,13} 3=(4 N B ={aread})
B N A4={2,4,6,1415} 4=(A N B={area2, area5})
Ans4 = 4-B={1,5,8,13} , Ans5 = S=(4 v (B n C)={areal, areal, aread, areas, area6 })
B-A= {3,9,10,12} 6=((4 v B) n (4 v C)={areal, area2, area4, area’, area6 })
(4 U B)=1{3,9,10,12} 7=((B-A4) n (B-C)={area3})
A N B= {3,9,10,12} 8= (A' U C= {areal, area2, area3, areab, area7, aread } )
_(A—B)'={2, 3,4,6,7,9,10, 11,12, 14, 15} | L 9=(B N (C—A)’z{areaZ,area.?, areald}) ]
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Set0l Answers for No.10945

areal = {3, 5} nd N B)=2 n(du B)=5
Ansl =| 1= “;:553:_{{71’08}} 2= n(4-B)=2 n(U-(4 U B))=6
aread = {2,4,6,9, 11,12} n(B-4)=1 Math@MUT
areal = {6,7,9,10} nA ~ B)=2 nA U B)=S8
Ans2=| 1= ”’6“23:_{{11’;2}} L 2=| n(4-B)=4 n(U-(4 U B))=4
ar:;j“: {‘3’ A58 n(B—A4)=2 Math@MUT
[ areal = {4, 11} ] T
area? = { } n(intersect(4, B, C)) =0 n(4-B)=3
area3 = {6,9, 16, 18} n(union(4, B, C)) =11 n(B-A)=4
szl 1o aread = {17} S n(4 A B)=0 n(Cn (40U B)=1
area’ = { } ’ n(B N C)=0 n(C v (4 nB))=5
area6 = { } nd U C)=7 n(intersect(4, B, C)) = 15
area’7 = {5, 10, 13, 14} nBu C)=9 Math@MUT
L L area8=1{7,8,12,15} | ]
A4 U B=1{6,8,9,10,12, 14,16, 18} I 1 =(B'= {areal. areat}) 7
/ 4 N B={6,16,18} 2=(A-B={areal })
Avw B={4,56,7,811,12,13,15,16,17,18} 3=(A-B)n (B-A)={})
B~ A=1{910,14} 4=(A N B={area2, area5})
Ansd = A-B={8,12} . Ans5 = S=(C v (4 n B)={area2, area4, area’, areab, area?7})

B —A=1{4,57,11,13,15,17}
(4 U B)=1{4,5,7,11,13,15,17}
A~ B={4,5711,13,15,17}

L(A-B)=1{4,5,6,7,9,10, 11, 13, 14, 15, 16, 17, 18 } |
PO 00000:000:000000000000 0000 000000000000000000000000 0000000000000 0000000000000 0000000 00000 0S OISO PSS 0000006006000 00

6=((4 v C) n (B U C)={area2, aread, areal, area6, area7 })
7=((C—-4) n (C—-B)={area7})
.8:(A, U B'= {areal, area3, area4, area6, area’, aread8 })
L .9=((B—C)’—A = {areab, area’7, area8 })
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Set0l Answers for No.10954

areal = {6, 13}
area? = {9}
area3 = {4, 8,12}
area4 =1{3,5,7,10, 11}
areal = {9,13,14,15,17}

n(d N B)=1 n(4d U B)=6
,.2=| n(4-B)=2 n(U-(4 v B))=5
n(B-4)=3 Math@MUT

Ansl =| .1 =

n(4d N B)=1 n(4 U B)=8

dns2=| 1= a“:;“;:{{;?} 2| n(4-B)=5 n(U—(4 U B))=7
aread = {5,6,7,8,10, 11,12} n(B-4)=2 Math@MUT
[ [ areal = {7,16} i l
area? = {15} n(intersect(4, B, C)) =0 n(4-B)=4
area3 ={3,4} n(union(4, B, C)) =11 n(B-4)=3
ansi<| 12 aread = {5,17} e n(4d N B)=1 n(C N (4 U B))=3
area’ = { } ’ n(BnC)=1 n(Cu (4 nB))=7
area6 = {6} n(d U C)=9 n(intersect(4, B, C)) =17
area7 = {8,9,11} n(Bu C)=9 Math@MUT
L Larea8 = {1,2,10, 12,13, 14} ] ]
4w B=1{1,2,506,7,9,10,12,13} [ A =(A v B={areal, area2, area3})
/ 4 N B={10,13} 2=(B-A={area3})
AU B={3,4,56,7,8,9,10,11,13,14} 3=((4 U B) = {aread})
BN A= {1,2,12} 4=(B v C={area2, area3, area4, area5, areab, area7 })
Ansd = A-B={5,6,7,9} . AnsS = S5=(C n (A v B)={aread, areal, area6 })
B,—A:{3,4, 8,11, 14} 6=((4 N C) U (B n C)={aread, areal, areab })
(4 U B)= {3,4,8,11, 14} 7=((C-4) u (C-B)={area4, areab, area7 } )
A A B'=1(34,8 11,14} 8=(A4' - B = {area3, areat })
(4= B)=1{1,2,3,4,8,10, 11,12, 13, 14} | L 9=(C N (4-B) = {area2, area3, area8 } ) J
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Set0l Answers for No.10966

areal = {1,4,7}

X

[Page 0021]

Ans4 =

B n(4 N B)=3  n(4 U B)=8
Ansl=| .1 = “;:;’53‘_{{02’31’09}} ,.2=| n(4-B)=3 n(U-(4 U B))=4
sreafe 15, 6.8, 11} n(B-A)=2 Math@MUT
””e“éf S Z m n(4 N B)=3 n(4 U B)=10
Ans2=| .1 = ar‘;;ej"_gz s 10,12y p2=| PA=B)=3 n(U-(4 U B))=4
areat— {01, 4.6) n(B-A)=4 Math@MUT
i areal = {2,12} i i
area? = {5,9,11} n(intersect(A4, B, C))=0 n(d-B)=4
area3 = {4,15} n(union(4, B, C)) = 10 n(B-A4)=2

area4 = {6, 10}

Ans3 =| .1= areas = 1{ } ,.2=
areab = { }
area7 = {7}
L Larea8 = {3, 8,13, 14} |
(4 U B=1{2,3,4,5,7,8,9,10, 11, 12} |
AN B={7}
AU B={2,36,78,91112 13}
BN A=1{4510}
A-B=1{2,3,8,9,11,12} | Ans5 =

B —A=1{6,13}
(4 U B)=1{6,13}
A n B={613}
(A-B) =1{4,5,6,7,10,13}

n(4d N B)=3 n(C N (4 U B))=2
n(B N C)=0 n(CuU (4 nB)=6
n(4 v C)=38 n(intersect(4, B, C)) = 14
n(B v C)=8 Math@MUT

1 =(A v B={areal, area2, area3})
2=(B-A'={areal})

3= (A' U B'= {areal, area3, area4})

4= (A, = {area3, areab, area7, area8 })

S=(B U (4 n C)={area2, area3, area4, area$s, area6 })
6=((4 v B) n (B v C)={areal, area3, aread, area’, area6 })
7=((C—-4) v (C—-B)={aread, areab, area7 })
8= (A' U C= {areal, area2, area3, areab, area7, areal8})

9= (B’ N (4- C)’= {aread, area7, area8})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.11154

X

[Page

0022]

aferzglz_{g?g} n(d N B)=2  n(duU B)=7
Ansl =| 1= weas o (3.5.8.15; 27| MA-BI=1 n(U=(4 U B))=6
aread = {4, 10,11, 12, 13, 14} n(B-4)=4 Math@MUT
aferzg]:‘{‘;’s’lfz ?i} n(4 N B)=3 n(4 U B)=10
Ans2 =) =] o 12, 15y 2| MAB)=3 (U= (4 U B))=2
areat— {10, 13} n(B-A)=4 Math@MUT
[ lareal={3,5,11}] 1
area2 = {0, 8} n(intersect(4, B, C)) =0 n(4-B)=4
area3 = {9} n(union(4, B, C)) =10 n(B-4)=3
mi| g areat=173 | n(4 N B)=2 n(C A (40U B))=3
area5={ } ’ n(B N C)=2 n(Cu (4N B))=6
areab={1,2} n(4d v C)=9 n(intersect(4, B, C)) =13
area7 = {10} n(Bu C)=7 Math@MUT
L Larea8 = {4, 6,12} | ]
4w B={3,4,56,7,8,11} 1=(4 v B={areal, areal, area3}) i
AN B={47} 2=(A4'~B={aread})
4 v B=1{23,47,89,10,11,12} .3=(A' U B'= {areal, area3, area4 })
BnA= {5,6} 4= (A’= {area3, areab, area7, area8 })

Ans4 = A-B=1{3,8,11}

B —-A4=1{2,9,10,12}
(4 U B)=1{2,9,10,12}
A N B={2,91012}

L (A-B)=1{2,4,5,6,7,9,10,12} |

, Ans5 =

S=(B N (4 v C)={area2, areal, areal })
6=((A4 N B) U (B N C)={areal, areas, areat })
J=((B-4) U (B-C)={area2, area3, areab })
8= (C'—B': {area2, area3})
9=(4 N (B-C) = {areal, aread, area5})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.11191

“rer“I;_{f}i} n(d N B)=1  n(4 U B)=6
Ansl=| .1 = ar:aja_ {‘2 30, ,.2=| n(4-B)=2 n(U-(4 U B))=1
aread={1,4,6,10,11, 12,13} n(B-4)=3 Math@MUT
area];jlfl’;f} 04~ B)=1  n(4 U B)=6
Ans2=| 1= ar;’;;“_ {‘7 0. 10} L 2=| n(4-B)=2 n(U-(4 U B))=9
aread = {4,5,6,8, 11,12, 13, 14, 15} n(B-4)=3 Math@MUT
[ areal = {5,9,12,13,16} | l
area? = {8} n(intersect(4, B, C)) =0 n(d-B)=5
area3 = {4,6} n(union(4, B, C)) = 12 n(B-A)=4
aread = { } n(d N B)=1 n(C (4 U B))=2
Ans3 =| .1 = , .2 =
aread={ } n(B N C)=2 n(C v (4 nB))=5
area6= {1, 17} n(4 v C)=10 n(intersect(4, B, C)) =19
area7 ={7,10} n(Bu C)=7 Math@MUT
L larea8=1{2,3,11, 14, 15, 18,19} | ]

AU B={1,

Ans4 = A-

AU B={1,3,4,910,11,12}
AN B={1,12}

BN A={910}

B -A4=1{2,56,7,8}

2,3,4,5,6,7,8, 11,12}

B=1{3,4,11} , Ans5 =

d=(4= {area3, aread })
2=(B—-A4A={area3})
3=(4 U B'= {areal, area3, area4})

4= (A’ = {area3, areab, area’7, area8 })

S=(4 v (B n C)={areal, areal, aread, area’s, area6 })
6=((A4 U B) n (4 v C)={areal, areal, area4, areal, areab })

7=((C—-A4) n (C-B)={area7})
A4 N B= {2,5,6,7,8} 48:(A' uC= {areal, area?, area3, areab, area7, aread } )

L (4-B)=1{1,2,5,6,7,8,9,10,12} | L 9=(C N (A-B) ={area2, area3, area8 }) i
O00.00.0.0.0.0.0.0.0.00.0.0.00.0.0.0.0.0.0.0.0.0.0.0.00.00.0.09.0.000.0.0.0000.0000.0000.0000.0.0000.0000000000000.0000.0000000000000.0000.0000000000000.0000.0000000000000000000

(4 U B)={2,56,738}
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Set0l Answers for No.11309

areal = {5,9,10, 11}

rea2 = {2} n(d N B)=1 n(4 U B)=8
Ansl =| 1= areZ;f {; §.12) 25| nA-B)=4 n(U-(4 U B)=5
aread = 10,1,3,6,7} n(B-4)=3 Math@MUT
“realzzilfgli’llf} n(4 N B)=2  n(4d U B)=7
Ans2=| 1= “::e"aj‘_{é o) 2= n(4-B)=3 n(U—-(4 U B))=7
aread = {4,5,6,7,10, 14, 15} n(B-4)=2 Math@MUT
[ [areal = (4,5, 11}] 1
area = { } n(intersect(4, B, C)) =1 n(4-B)=5
area3 = {13} n(union(4, B, C)) =11 n(B-4)=2
ansi<| 12 aread = {6,9} I, n(4d N B)=1 n(C n (4 U B))=4
T area5={10} [T n(B N C)=2 n(C U (4N B))=7
areab = {12} n(4 v C)=10 n(intersect(4, B, C)) =13
area7 ={2,7,8} n(Bu C)=8 Math@MUT
L L area8=14{0,1,3} | i
A v B={2,56,7,8,9,10,11,12} i 1= (A = {area3, aread}) 7
{Ir\B:{Z,S,G,S} 2=(A-B={areal })
4V B={2,3,45,6,7289,12} 3=((A4-B) U (B—-A)={areal,area3})
B nA={10,11} 4=(A v B={areal, areal, area3, area4, area5, area6 })
Ans4 = A-B=1{7,9,12} , Ans5 = S=(B n (4 v C)={area2, areal, areab })
B -A= {3,4} 6=((4 N B) U (B n C)={areal, areas, area6})
(4 U B)’: (3,4} 7=((A-B) U (A-C)={areal, areal, area4})
A N B'={3,4} .8=(B —A = {areal, aread})
| (A-B)=1{2,3,4,5,6,8,10,11} |
X [Page = 0024]

L 9=((C—-A4) - B ={area2, area3, area5 }) |
DIO00:00:00:0:0:0:0:0:0:0:0:0:0/0.0:0:0.0:0:0:0.0:0:0:0.0.0:0:0.0.00:0:0.0'0.0:0.0.0:0.0.0.0:00:0.0.0.0:0:0.00:0.0.0.0:0.0.0:0:0:0.0.0:0:0.0'0.0:0.0.0.0.0:0.0.0:0:0.0.00:0.0.0'0:0:0.0.0.0:0.0.0:0:0.0.0'00:0.0.0:0:0.0'0.0:0.0.0.0:0.0:0:0:0.0.0'0:0:0'0'0:0:0.0:
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Set0l Answers for No.12037

[Page 0025]

Ans4 =

areal = {2,3,7}

n(d N B)=1 n(4 v B)=38
Ansl =| 1= area2 =19} 2= n(4-B)=3 n(U-(4 U B))=5
area3 = {5,10, 12, 14} n(B-A)=4 Math@MUT
area4 = {4,6,8,11,13}
“’e"éf{“’g} n(d N B)=2  n(4du B)=8
Ans2=| 1= arezr;i {‘15{275’8!}10} ,2=| n(4-B)=2 n(U-(4 U B))=3
areat = (0,3, 5} nB-A)=4 Math@MUT
[ [ areal = {6} i |
area? = {5, 14} n(intersect(4, B, C)) =1 n(4-B)=1
area3=1{2,7,8,15} n(union(4, B, C)) = 10 n(B-A)=4
P aread = { } S n(4 ~ B)=3 n(Cn (40U B)=1
' area5=1{0} e nB N C)=1 n(C U (4 N B))=5
areab = { } n(4 v C)=6 n(intersect(A4, B, C)'): 16
area7 = {4,12} n(Bu C)=9 Math@MUT
Larea8 = {1,3,9, 10, 11, 13, 16 } ]

AU B=1{6,7,8,9,12,15}
AN B={7,15}

AU B =1{4,57,89,10,11,12,13, 14, 15,16}
BN Ad={6}
A-B={8,9,12}
B'—A=1{4,510,11,13, 14,16}

(4 U B)=1{4,510,11,13, 14,16}
A~ B'=1{4,510, 11,13, 14,16}

AnsS =

>

(4-B)=1{4,5,6,7,10,11, 13, 14, 15, 16}

1 =(A4 v B={areal, area2, area3})
2=(A - B ={area3})
3=((4 U B) = {aread})
4=(B n C={areal, areab})
S=(B N (4 v C)={area2, area’, areab })
6=((4 N B) U (B n C)={areal, areas, areab })
J=((B-4) n (B-C)={area3})

8= (B’ U C= {areal, area?, area3, aread, area7, area8})

9=(B N (4- C)’: {area3, area5, area6 })

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.12454

X [Page = 0026]

areal = {10, 11}
area? = {5,8}

Ansi=).I= area3=1{1,3,9}
area4 =1{0,2,4,6,7,12}
areal = {5,10, 12}
areal =
Ans2 =\ 1= area3={2,4,{1i,13}’
area4 =1{3,6,7,8,9}
[ [ areal = {11} )
area = {2,13}
area3 =1{3,6,7}
aread = {4}
Ans3 =| .1 = areas = 1{ } , .2 =
areab = { }
area7 =1{1,8,9,10,12}
L area8=1{0,5} ]
[ 4 U B={1,2,3,4578,9,12} I
AN B={}
AU B={1,406,77810,11,12, 13}
B A={23509}
Ans5 =

A-B=1{1,4,7,8,12} i
B —A=1{6,10,11,13}
(4 U B)=1{6,10,11,13}

Ans4 =

n(4d N B)=2 n(4 v B)=17

,.2=| n(A-B)=2 n(U-(4 U B))=6
n(B-4)=3 Math@MUT
n(4d N B)=0 n(4 v B)=7

2= n(4-B)=3 n(U-(4 u B))=5

n(B-4)=4 Math@MUT

n(intersect(4, B, C)) =0 n(4-B)=2

n(B-A4)=3

n(union(4, B, C)) =12
n(Cn(4vB))=1

n(4 N B)=2

n(B N C)=0 n(C U (4 n B))=8
n4d v C)=9 n(intersect(A4, B, C)'): 14
n(Bu C)=11 Math@MUT

A=(4 N B={areal})
2=(B - A ={areal })
3=((4-B) n(B-4)=1{})
4= (C’ = {areal, area2, area3, areal8 })

S=(C v (4 n B)={area2, area4, area’, areab, area?7})
6=((4 v C) n (B U C)={area2, area4, areal, area6, area7 })
J=((B-4) n (B-C)={area3})
8= (A’— C= {areab, area7 })

A n B'={6,10, 11,13}

9=((4- C)’— B = {area3, area5, area6 })

L (4-B)=1{2,3,5,6,9,10,11,13} |
):9:9:0.:9:9:9:9.9:9.:9:0.9:9.:0:0.9:0:0:0.9:9.:9:0.9:9.9:0.0:9.0:0.0:0:0:0.9:9:9:0.0:9:9:0.0:9.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0.9.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:9.0.0.0:9.9:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.9:0.0:0.0:0.0:0.0:0.0:0:9:9.0:0.9.9:0.:0.9.:9:0:0.9.9:0:0.9.0.0.0:¢
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Set0l Answers for No.12483

“reflzfi’08’7l}o} n(4 N B)=2  n(4d U B)=6
Ansl=| .1 = “;Za;_{’s} 2= n(4-B)=3 n(U-(4 U B))=5
areat—11,3.4.6,9} n(B-A4)=1 Math@MUT
areal = {2}311{3534’ 13} n(d N B)=1 n(4du B)=8
Ans2=| 1= aferﬁz-h 6 ,2=| n(4-B)=5 n(U-(4 U B))=1
aread = {5,8,9, 10, 11, 12, 16} n(B-4)=2 Math@MUT
[ areal = {3,5,15} i T
area2 = {8, 11} n(intersect(4, B, C)) =0 n(4-B)=3
area3 ={ } n(union(4, B, C)) =12 n(B-A4)=1
- AN B)=2 Cnr(4uUB)=1
ns3=| 1= aread = { } 2= n(4 N B) n(C N (4 v B))
aread={ } nBnNnC)=1 n(C U (4 nB))=9
areab = {4} n(4d v C)=12 n(intersect(4, B, C)) = 16
area7={2,9, 12,13, 14,16} n(B U C)=9 Math@MUT
L area8=1{6,7,10,17} | ]

[ 40 B=1{4,5,6,7,8,9,12,13,14} | 1= (B = {areal, aread})

AN B=1{4,512} 2=(A-B={areal })
4w B={4,591011,12, 14} 3= (A' U B'= {areal, area3, area4 })
Bnd= 16,7,8,13} 4= (B,= {areal, area4, area7, area8 })
Ans4 = A-B={9, 14} , Ans5 = S=(4 v (B n C)={areal, areal, aread, areal, area6 } )
B —4=1{10,11} 6=((4 v B) n (4 v C)={areal, areal, aread, area’, area6 } )

7=((A4=B) N (A-C)={areal })
A~ B'=1{1011} 8=(B —A = {areal, aread})

L(A-B)=1{4,5,6,7,8,10,11, 12,13 } L 9=((B-C) — A= {areab, area’, area8}) |
O00.00.0.0.0.0.0.0.0.00.0.0.00.0.0.0.0.0.0.0.0.0.0.0.00.00.0.09.0.00.0.0.0.0000.0000.0000.0000.0.0000.0000000000000.0000.0000000000000.0000.00000.0000.0000.0000.0000000000000000000

(4 U B)=1{10,11}

X [Page = 0027]
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Set0l Answers for No.12557

areal ={ } n(4 N B)=3  n(4d U B)=4
Ansl =| 1= “r:fjaif%{’lz? 2= n(4-B)=0 n(U-(4 U B))=8
aread = {4,5,6,7,8,10, 11, 12} n(B-A)=1 Math@MUT
areal = {4, 7, 10} n(4 A B)=2  n(4 U B)=6
Ans2=| .1 = “refzzfg{’;}l} L 2=| n(4-B)=3 n(U-(4 U B))=5
area4i?;, 58,12, 13} n(B-4)=1 Math@MUT
[ areal = {4, 11} ) |
areal = {2} n(intersect(4, B, C))=0 n(4-B)=3
area3 = {6,12, 16} n(union(4, B, C)) =11 n(B-A4)=6
aread = {7} n(d N B)=1 n(C A (4 U B))=4
Ans3 =| .1 = .2 =
areas = { } n(B N C)=3 n(C v (4 nB))=6
areab = {3,5,15} n(d v C)=8 n(intersect(4, B, C)) =16
area7 = {13} n(Bu C)=9 Math@MUT
L Larea8 = {1, 8,9, 10, 14 } i
(4 U B=1{4,5,6,7,8,9,10,11,12}] i d=(A N B={area2})
A0 B=19,12} 2=(B —4'={areal })
4 v B :{172’ 3,5,7,9,10, 12} 3=((4 n B)': {areal, area3, area4 })
BN A4=1{4,6,811} A4=(A n C={aread, area5})
Ans4 = A-B=1{5,7,10} , AnsS = S=(B N (4 v C)={area2, areal, areab})
B -A= {1,2,3} 6=((4 N B) U (B n C)={areal, areas, areab })
4 v B)':{1,2,3} 7=((B-4) U (B-C)={area2, area3, areab })
A~ B=1{1,23} 8=(4A N B = {area7, area8})
_(A—B)':{l,z, 3,4,6,8,9,11,12} ] L .9:((C—A)’—B’:{area2, area3, areal }) i

X [Page = 0028] XXXXXXXXXXXXXXXKXXXXXXXXXXXXXXKXKXKXKXKXKXXKXKXKXKXXKXKKXKXKXKXKKKXKKKXKKXKKKKKXKKKKKXKXKKXKKKXKKKX KX KKK KK KK KKK KK KK KKK KK KK KKK KKK KKK KKK KK KKK KK KKKKK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKXXXXKX XXX XXX XXX KK KKK KKK KK XX XKLL LXK XX KKK XXX LXK XXX KKK XK XXX KKK KKK XXX XXX K XXX KKXKKKKKMAE /1-6600101-00029XX

X

Set0l Answers for No.12637

Ans4 =

[Page 0029]

areal = { }
areal = {4,6, 11}
Ansl= 1=t ea3= (9, 10,12} [ 27
area4 =1{2,3,5,7,8}
areal = {5,6,8,10,12}
area? ={3,11}
Ans2=| 1= area3 = {2,4,14} 2=
area4 ={7,9,13}
[ i areal = {6, 11} ]
areal = {16}
area3 = {2}
aread = {3,12, 18}
Ans3 =| .1 = areas = {13} ,.2=
areab = { }
area7 = {4}
L Larea8 = {5,7,8,9, 10, 14, 15, 17 } |
A U B={3,4,512,13,14,15} 1
AN B={15}
AU B ={256,7,8,91011,12,13,14,15,16}
B N A={34}
A-B=1{5,12,13,14} . Ans5 =

B -4=1{2,6,7,8,9,10,11,16}
(4 U B)=1{2,6,7,8,9,10,11,16}
A N B={26,7738910,11,16}

(A-B)=1{2,3,4,6,7,8,9,10, 11, 15, 16}

n(d N B)=3 n(4d U B)=6
n(4-B)=0 n(U-(4 v B))=5
n(B-4)=3 Math@MUT
n(4d N B)=2 n(4uU B)=10
n(A-B)=5 n(U-(4 v B))=3
n(B-4)=3 Math@MUT |
n(intersect(4, B, C)) =1 n(d-B)=5
n(union(4, B, C))=9 n(B-4)=1
n(4 N B)=2 n(C N (4 U B))=4
n(Bn C)=1 n(Cu(4n B)=6
n(4d v C)=38 n(intersect(4, B, C)) =16
n(Buv C)=7 Math@MUT

A=(4 N B={area?})
2=(B-A'={area2})
3=(4 U B'= {areal, area3, area4})
4=(A n C={aread, area’ })
S=(B v (4 n C)={area2, area3, aread, areal, area6 })
6=((4 v B) n (B v C)={area2, area3, area4, area’s, area6 })
7=((B—-4) U (B-C)={area2, area3, areab })
.8:(A’ N B'= {area7, area8 })
9= (B’ N (4- C)/: {area4, area7, area8})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.12689

:re;]_:{§4;} nd N B)=2  n(duU B)=7
Ansl =| 1= are;e_“{;g lo 11y [ 25| MA-B)Y =1 (U= (4 U B)=4
wrend— 12.6.9.12) n(B-A)=4 Math@MUT
“’Z“f?l{gl}s} n(d N B)=2  n(4duU B)=7
Ans2=| .1 = areas =% L 2=| n(4-B)=1 n(U-(4 U B))=8

area3=1{2,4,5,6}

aread = 13,7,9, 10, 11, 12, 13, 14} n(B-A)=4 Math@MUT
[ areal = {8} ) i
area? = { } n(intersect(4, B, C))=0 n(4-B)=3
area3 = {4,5} n(union(4, B, C))=9 nB-A4)=4
nsi<| 12 aread = {3, 14} . n(4 N B)=0 n(Cn (4 v B))=4
area’ = { } i n(B N C)=2 n(Cu (4 nB))=6
areab = {2,12} n4d v C)=7 n(intersect(4, B, C)'): 14
area7 = {1,13} n(B U C)=8 Math@MUT
L Larea8 = {6,7,9,10, 11} ]
(AU B=1{3,4,5,6,7,9,10,11,12,13, 14} ] [ 1= (4 = {area3, aread } ) ]
f4 N B={10,13} 2=(A4' - B'={area3})
A uB:{fl,7,8,10,11,13,14} 3=((4 U B) = {aread})
B N A4={3,56,912} 4=(B v C={area2, area3, aread, area’, areab, area?7})
Ans4 = A-B=1{4,7,11,14} , Ans5 = S=(B v (4 n C)={area, area3, aread, areas, area6 })
B —4={8} 6=((4 U B) n (B v C)={area2, area3, aread, areas, areab })
(4 U B)={8} 7=((C—-4) n (C-B)={area’})
A n B={8} 8=(C —4'={areal, areal})
L (4-B)={3,5,6,8,9,10,12,13} | L 9=((B-C) — A= {areab, area’7, area8}) ]
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Set0l Answers for No.13349

areal = {11} nd N B)=2  n(du B)=7
dnsi=| 1= el =i491 o L A—B)=1 n(U—(4 U B))=5
area3 ={6,7,10,13} n(B-d)=4 Math@MUT
aread4 = {2,3,5,8,12}
areal = {6, 11} n(d nB)=1 n(duU B)=9
Ans2=| 1= area2 = {15} 2= n(4-B)=2 n(U-(4 U B))=5

area3 =1{5,9,10,12,13, 14} |~

aread = {4,7,8,16,17} n(B-4)=6 Math@MUT
i areal = {4, 10} ) |
area? =1{7,9,15} n(intersect(A4, B, C))=0 n(d-B)=2
area3 = {6, 13, 14} n(union(4, B, C))=11 n(B-A4)=3
ns3=| 1 aread = { } 2e n(4 N B)=3 n(C mn (4 v B))=0
' area5=1{ } . n(B N C)=0 n(Cu (4 n B))=6
areab = { } n(d v C)=8 n(intersect(4, B, C)) =16
area7 = {3,5,16} n(Bu C)=9 Math@MUT
L Larea8 = {1,2,8,11, 12} i
4w B=13,4,6,8,9,11,12} AI:(Arz{area3,area4})
, 40 B=1{312} 2=(A-B'={area2})
4 v B={1,2345.6759,1012} 3=((A-B) U (B-A)={areal, area3})
B nA4={811} 4=(B v C={area2, area3, area4, areal, areab, area7 })
Ans4 = A-B=14,6,9} , AnsS = S=(4 v (B n C)={areal, areal, aread, area$, area6 })
B -4= {1,2,5,7,10} 6=((4 Y B) n (4 v C)={areal, area2, area4, area’, areat } )
(4 U B)=1{1,2,5,7, 10} 7=((B-4) n (B-C)={areal3})
A N B= {1,2,5,7,10} .8:(B, v C= {areal, area?2, area3, aread, area7, aread8 })
_(A—B)':{1,2,3,5, 7,8,10, 11,12} | L 9=(A4 n (B—C)’:{area],area4,area5}) ]
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Set0l Answers for No.13519

areal = {6} nd nB)=2  n(du B)=7
Ansl =| 1= ar:;;f{:l{i:z,}g} 2= n(4-B)=1 n(U-(4 U B))=4
aread = (4,10, 11,12} n(B-4)=4 Math@MUT
areal = {0, 10} n(dnB)=1 n(duU B)=6
Ans2=| 1 = arezgef{i{i}lz} 22| n(4-B)=2 n(U—(4 U B))=8
aread = {1,2,3,5,6,8, 11, 13} n(B-4)=3 Math@MUT
[ [areal = {7,12,13}] ]
areal = {6} n(intersect(4, B, C)) =1 n(4d-B)=5
area3 ={2,3,11} n(union(4, B, C)) =11 n(B-4)=3
Ansie| 12 aread = {4,5} . n(d N B)=2 n(C N (4 v B))=3
area5 = {9} ’ n(BnN C)=1 n(Cu (4 N B))=5
areab = { } n4d v C)=8 n(intersect(4, B, C)'): 13
area7 = {1} n(B U C)=8 Math@MUT
L Larea8 = {8, 10, 14} | ]
AU B=1{2,56,7,811,12,13,14} | i 1=(A v B={areal, area2, area3})
A0 B={11,13} 2=(B-A'={area2})
4V B= {374, 6,9,10, 11,13, 14} 3=((4 n B)'= {areal, area3, area4})
B nA4A={2573812} .4:(B,= {areal, area4, area7, area8 })
Ans4 = A4-B={6,14} , Ans5= S5=(C U (4 n B)={area2, area4, area5, areab, area?7 })
B-A= {3,4,9,10} O6=((4 v C) n (B v C)={area2, aread, areas, areab, area?7 } )
(4 v B)’: {3,4,9,10} 7=((C-4) v (C-B)={aread, areab, area7 })
A4 N B= {3,4,9,10} 8= (A' U B'= {areal, area3, area4, area6, area7, area8})
_(A—B)':{Q, 3,4,5,7,8,9,10, 11,12, 13 } | L ,9=((C—A)’—B={area1, area4, area8}) |

X [Page = 0032] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXKXKXKXKXXKXKXKXKXXKXKKXKXKKKXKKXKXKKKXKKXKKKKKX KKK KKK KKK KKK KKKKKKKKKKK KKK KK KK KKK KKK KKK KKK KK KKK KK KK KKK KK KKK



DGRV ERRNCIVIVEND’'0:0:6:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0:0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.00.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.6.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0:0:0:0.0:0.0.0:0.6:0.0.0:0.0.0:0.6:0.0.0:0.0:6:0.0 ¢ | WA EL Y Y LN ORI JO I 155704
Set0l Answers for No.14276

X

areal =12, 8} nd N B)y=4  n(d U B)=7
Ansl =| 1= “’6“22{37’_9’{;(;’“} 2= n(4-B)=2 n(U-(4 U B))=5
area4a:e{al,_3, 46,12} nB-4)=1 Math@MUT
areal =3, 5,6,7} n(d n B)=2  n(4d U B)=9
Ans2=| .1 = afer:;’i:{élglfg} L 2=| n(4-B)=4 n(U-(4 U B))=5
aread = {0,4,9, 11, 13} n(B-4)=3 Math@MUT
[ areal = {4,5} ] T
areal = {14} n(intersect(4, B, C)) =0 n(A-B)=2
area3 = {12} n(union(4, B, C)) =10 n(B-A4)=3
szl 1o aread = { } S n(4 ~ B)=1 n(C (40U B))=2
area’ = { } ’ n(B N C)=2 n(Cu (4 nB))=7
areab={2,9} n(4 v C)=9 n(intersect(4, B, C)/) =14
area7 = {3,6,7,13} n(Bu C)=8 Math@MUT
L Larea8 = {8, 10, 11, 15 } | i
AU B=1{2,3,4,6,7,8,10,11,14} | i 1=(4 U B= {areal, area2, area3}) ]
AN B={24} 2=(B —A'={areal })
A v B= {2? 4,5,9,10,11,12,13} 3=((4 v B)': {aread})
BN A={3673814} .4=(C’: {areal, area2, area3, area8 })
Ans4 = 4-B={10,11} , Ans5 = S5=(C U (4 n B)={area2, area4, area$5, areab, area?7})

B -A4=1{5,9,12,13}
(4 U B)=1{5,9,12,13}
A N B'={509,1213}
[(A-B) =1{2,3,4,5,6,7,8,9,12,13, 14} |

[Page 0033]

O6=((4 v C) N (B y C)={area2, aread, area’, area6, area7 })
7=((A-B) U (A-C)={areal, area2, aread })
8=(C-B= {area2, area3})
9=((4- C)’—B: {aread, area7, area8})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.14331

areal = {7,8}
area? = {0}
area3 ={2,3,4,10, 11} [~
area4 ={1,5,6,9,12}
areal = {3,8,9}
area? ={4,5,11,13}

n(d N B)=1 n(4 v B)=38
2= n(4-B)=2 n(U-(4 v B))=5
n(B-4)=>5 Math@MUT

Ansl =| .1 =

n(4d n B)=4  n(4 U B)=9

Ans2=| .1 = area3 = (7,10} ,.2=| n(4-B)=3 n(U-(4 v B))=5
aread = {0, 1,2, 6,12} n(B-A)=2 Math@MUT
[ i areal = {13, 15} ] |
area? ={3,9,11} n(intersect(A4, B, C)) =0 n(4d-B)=4
area3 = {10} n(union(4, B, C))=9 n(B-—A4)=2
Ans3—| 12 aread = {2,7} e n(d N B)=3 n(C N (4 v B))=3
areas = { } i nB N C)=1 n(CuU (4 nB))=6
area6 = {4} n(d u C)=38 n(intersect(4, B, C) )= 17
area7 = { } nBu C)=7 Math@MUT
L Larea8 = {0, 1,5,6,8,12, 14,16} i
(4 U B=1{3,4,5,6,7,8,9,10,11,12,15,16} | i 1 =(B = {areal, aread}) 1
' 4 N B={12} 2=(B-A'={area2})
AV B={2,6, ?3, 9,10, 11,12, 13,14, 16 } 3=((4 U B) = {aread})
B nA4={3,45715} 4=(A n C={area4, areas})
Ansd = 4-B={6,8,9,10,11, 16} , Ans5 = S5=(C n (4 v B)={area4, area$, area6 })
B-A= {2,13,14} O6=0(A4 N C) v (B N C)={aread, area5, areab })
(4 v B),: {2,13,14} 7=((A4-B) U (A-C)={areal, area2, aread})
A4 N B= {2,13,14} 8= (A' U B'= {areal, area3, area4, areab, area?7, areas } )
| (4-B)=1{2,3,4,57,12,13,14,15} | L 9=(4 ~ (B-C) = {areab, area7, area8 }) i
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Set0l Answers for No.14360
areal = {9, 10}

area2 = {8} n(4d N B)=1 n(4d U B)=8

Anst=\ 1= a3 = (5.7, 12,1415} [ 2~ EE‘;:?;?? n(Uﬁ;(iéJij)T):“
aread = {4, 6, 11, 13} - “
areal =2{i,{6,}15} n(d N B)=0 n(4du B)=7
Ans2=| 1= areazs = ,2=| n(4-B)=3 n(U-(4 U B))=8

area3=14{2,3,7,10}

aread=1{1,5,8,9,11, 12, 13, 14} n(B-d)=4 Math@MUT
[ areal = {2,12,14,17} | ]
area? = {4,16} n(intersect(A4, B, C)) =0 n(4d-B)=35
area3 = {11, 15} n(union(4, B, C)) =11 n(B-A4)=2
Ans3—| 1= aread = {3} P n(d N B)=2 n(C n (4 U B))=1
' area5=1{} - n(B N C)=0 n(C U (4N B))=5
area6 = { } n(d v C)=9 n(intersect(4, B, C)) =17
area7 = {6,9} nBu C)=7 Math@MUT
L Larea8={5,7,8,10, 13,18} | ]
[ 4 U B={2,3,46,71011,12} | [ 1=(A4 N B={area2}) ]
AN B={2,34,12} 2=(B'~A'={areal })
4V B=1{23,456,7809,1112} A3:(A' U B= {areal, area3, area4})
B A={10} 4=(A N B={area2, areal })
Ans4 = A-B=1{6,7,11} , AnsS = S=(4 v (B n C)={areal, areal, aread, area5, area6 })
B -A= {5,8,9} 6=((4 Y B) n (4 v C)={areal, area, aread, area’, areal } )
(4 U B)=1{58,9} 7=((C—-4) n (C-B)={area7})
A N B={52809} .8=(A - B'={area3, area6})
L (A—B)':{z, 3,4,5,8,9,10,12} | L .9:(3' N (C—A)’:{areal, aread, area8 }) ]
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Set0l Answers for No.14380

areal = {5,13,15}

area2 = {11} n(4 N B)=1 n(d U B)=9

aread = {4,8,9,12} - a
“real;{{sl’;’llf}} n(d N B)=2 n(4d U B)=10
Ans2=|.1=| e = S 2=| n(4-B)=3 n(U-(4 U B))=5

area3 ={6,9,10, 15,16} "

aread = {3,4,7, 11, 14} n(B-4)=3 Math@MuT
[ [ areal = {11,17} ) i
area2 = {4,9} n(intersect(A4, B, C))=0 n(d-B)=2
area3 ={2,7} n(union(4, B, C))=9 n(B-—A4)=3
ns3—=| 17— aread ={ } 2= n(4d N B)=2 n(C N (4 v B))=1
area’ = { } n(B N C)=1 n(Cu (4 nB))=5
area6 = {6} nd v C)=7 n(intersect(4, B, C)) =17
area7 ={1,10} n(Bu C)=7 Math@MUT
L Larea8 = {3, 5,8,12, 13,14, 15,16} J
i A v B=1{3,4,5,7,9,10,11} ] i 1 =(A v B={areal, area2, area3})
' AN B={3,49} 2=(A-B={area2})
4 v B={123,45, §, 7,8,9,10,12,13, 14} 3=0(4 n B) = {areal, area3, area4})
B nA4={11} .4:(C,= {areal, area2, area3, area8 })
Ans4 = A-B={5,7,10} , Ans5 = S=(B N (4 v C)={area, area5, areab })
B -A4=1{1,2,6,8,12,13, 14} 6=((4 N B) U (B n C)={area, areas, areab})
(4 U B)=1{1,2,6,8,12,13, 14} 7=((C-4) n (C-B)={area7})
A N B'={1,2,6,8,12,13,14} .8=(B - C = {aread, area’})
| (4-B)=1{1,2,3,4,6,8,9,11,12,13,14} | L .9=(4 n (C-B) = {areal, area2, area5}) |
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Set0l Answers for No.14393

Ans4 =

[Page 0037]

areal ={7,8,10, 12} 24 A B)=2 n(A4 U B)=9
Ansl =| 1= ari;i“i?s{fg’,“l}l} 22| n(4-B)=4 n(U=(4 U B))=3
aread = (6,13, 14} n(B-4)=3 Math@MUT |
areal = {5,7} n(d n B)=2  n(4d U B)=9
Ans2=| .1 = are;;fi;élg ﬁ,}w} L 2=| n(4-B)=2 n(U-(4 U B))=2
areat = {4,9) nB-A4)=5 Math@MUT |
i [ areal = {5,13} | ]
area? = { } n(intersect(4, B, C)) =1 n(4A-B)=4
area3 = {6,10} n(union(4, B, C)) =11 n(B-4)=3
nsi<| 12 aread = {8, 14} . n(d N B)=1 n(C N (4uv B))=4
area5={12} | n(B N C)=2 n(Cu (4 nB)=7
area6 = {15} n(4 v C)=9 n(intersect(4, B, C)'): 13
area7 ={7,11,16} n(B v C)=9 Math@MUT
L L area8=1{4,9,17} | i
(4 O B=1{4,5,7,8,10,11,12,14,15,16, 17} | I 1 =(B = {areal, aread )
) 4 N B={14} .2=(B'—A={area4})
Avw B={6,7,80911,12,13,14} 3=((A-B) N (B-4)={ 1)
B N A'=1{4,510,1516,17} 4=(4 " C={aread, area5})
A-B={7,8,11,12} , Ans5 = S=(4 v (B n C)={areal, areal, aread, area5, area6 })

B -A4=1{6,9,13}
(4 U B)=1{6,9,13}
A~ B={6,913}

L (4-B)=14,5,6,9,10,13, 14, 15,16,17} |

6=((4 Y B) n (4 v C)={areal, area2, area4, area’, areat } )
7=((C—-4) v (C-B)={aread, areab, area7 })
.8=(A’ N C= {area3, area8 })
9=(A4 n (B—C)’: {areal, aread, area5 })
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Set0l Answers for No.14418

areal =13,7} n(4 N B)=4  n(4 U B)=7
Ansl =| 1= “’eair:ei;’_“’{?}’ M ool n(4-B)=2 n(U-(4 U B))=6
aread = 1{3,6,9,10, 11,12} n(B-4)=1 Math@MuT
areal = {8,12,13, 14} nA  B)=3 (A U B)=9
Ans2=| 1= ”’6“23:_{?’65’73} ,2=| n(4-B)=4 n(U-(4 U B))=2
aZZj :_{ o, 11} n(B-A4)=2 Math@MUT
[ areal = {2,17,19} | il
area? = { } n(intersect(4, B, C)) =0 n(4-B)=3
area3 = {4,8, 12,13, 15} n(union(4, B, C)) = 14 n(B-A)=7
ns3=| 17— aread ={ } e n(4d N B)=0 n(C N (4 v B))=2
areas = { } i n(B N C)=2 n(Cu (4 nB))=6
areab = {6,11} n(4d v C)=9 n(intersect(4, B, C) )= 19
area7 = {9, 16, 18, 20 } n(B v C)=11 Math@MUT
L L area8 =1{3,5,7,10,14} | ]
AU B=1{2,3,4,6,11,12,13} r J=(4 A B={area2})
- AnB={} 2=(A-B={areal })
A v B={4,5"118,9,10,11,12,13} 3=(A4-B) n (B-A)={1})
B A={236} 4=(A4 N C= {aread, area5})
Ans4d = A-B=1{4,11,12,13} , AnsS = S5=(C N (4 v B)={aread, area5, area6 })
B'—A:{S, 7,8,9,10} 6=((4 N C) u (B n C)={aread, area’, area6 })
(4 U B)=1{5,7,8,910} 7=((B-4) v (B-C)={area2, area3, areab })
A N B = {(5,7,8,9,10} .8:(A’ N B= {area7, area8 })
L (A—B),:{2,3,5,6,7, 8,910} | L .9=(B' N (C—A)'z{area],area4,area8}) ]
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Set0l Answers for No.14419

areal = {10} n(4 A B)=2  n(4 U B)=5
Ansl =| 1= Z:Zi:ggi 2= n(4-B)=1 n(U-(4 U B))=1
aread = 12.4.5,9. 11,12, 13} n(B-4)=2 Math@MUT
areal = {6} n(4 A B)=3  n(4 U B)=6
Ans2=| .1 = areaZ;j9{,5101,11;1} L 2=| n(4-B)=1 n(U-(4 U B))=5
area:liria{4j7, 81213} n(B-4)=2 Math@MUT
[ [areal = {6, 10, 11,14} ]
area? = {13} n(intersect(A4, B, C)) =0 n(4d-B)=6
area3 = {8,15,17} n(union(4, B, C)) =12 n(B-A)=4
nsz| | areat=15.16} S n4d n B)=1 n(C N (4 U B))=3
area’ = { } ’ n(B N C)=1 n(C v (4 nB))=5
area6 = {4} nd U C)=9 n(intersect(4, B, C)) =15
area7 = {9} n(Bu C)=8 Math@MUT
L area8=1{3,7,12} ]
A v B=1{3,4,7,8,9,10, 11,12} i .1:(3':{area],area4}) ]
’ AN B={8,11,12} 2=(4A-B = {area3})
4V B={4,56.7.89.10,11,12,13, 14,15} 324 A B ={areat))
B nA4={3} 4=(A n C={area4, areas})
Ans4 = A-B={4,7,9,10} , Ans5 = 5=(C U (4 n B)={area2, area4, area’, area6, area’7})
B —A=1{56,13,14,15} 6=((4 v C) n (B v C)={area2, aread, areas, areab, area’7 })
(4 U B)=1{5,6,13,14,15} 7=((B-A4) n (B-C)={area3})
A N B'={5613 14,15} 8=(A4 - C = {area6, area7})
L (4-B)=1{3,5,6,811,12,13,14,15} | L 9=((B-C) -4 ={areal, aread, area5}) ]
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